A satellite requires a line of sight for communication. Between the ground
stations farthest from the satellite, what is the amount of time needed for a
signal to go from one station up to the satellite, and then down to the other
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4. What is the perimeter of ABCD?
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5.1s MN tangent to ©B?
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7. Segment AC is tangent to ®D at B. Find
m£ADB.

Segment AC is tangent to ®D at B. Find BC. - -b\}"c-



9. Segment FG is tangent to OK at Fand HG is
tangent to ©K at H. Find FG.
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10. Segment FG is tangent to ©K at Fand HG s

tangent to ©K at H. Find m£ZFGH.



